Dr. Funsters Visual Mind Benders®B1 Exercises

25. 1-1
One of the triangles is
in the solution, and it
is in the same location.

1-0
One of the squares is

in the solution but not
in the same location.

One of the circles is in
the solution, and it is
in the same location.
One of the hexagons is
in the solution but not
in the same location.

Two of the figures

are in the solution,

but only one is in

the same location.

Two of the figures
are in the solution,
but only one is in

the same location.

SOLUTION
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